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307 glz2tol & 1,000 1,000 0
Al 500
T 500
05 RIZt2E = 1,000 1,000 0
OZHENEY 1,000,000 1,000
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SHLFZ2 DS FHHI 104,200 54,200 50,000
Al 50,000
- 54,200
202 (44l 1,200 1,200 0
01 S LHOIYI 1,200 1,200 0
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301 et a3z 100,000 50,000 50,000
Al 50,000
- 50,000
11IIEtEA S 100,000 50,000 50,000
OXNEZHXNES 100,000, 000& 100,000
Al 50,000
T 50,000
307 glz2tol & 3,000 3,000 0
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201 LBH2d| 25,000 25,000 0
01 At 2t 2l 10,000 10,000 0
OZ&AgRE 2372 10,000, 000 10,000
02 23=24gHl 15,000 15,000 0
Oz22= & HA 15,000, 000& 15,000
401 Al HIZ 201 I 60,400 70,540 A 10,140
01 A& HI 60,000 70,000 A 10,000
OZZANEE =AFHI 60,000, 000& 60,000
03 Al =2 THHI 400 540 A 140
OZZANEE =AZH R0l 400,000& 400
SADRE HE 2e 33,320 36,120 A 2,800
= 2,000
Al 5,320
- 26,000
W RS 2te 2,000 2,000 0
= 2,000
202 04 Hl 2,000 2,000 0
= 2,000
01 = LH YI 2,000 2,000 0
OMNgHst=2el Ml 2,000,000 2,000
= 2,000
SANHEANLEZE ¥ 22 26,000 26,000 0
201 LB-2EH| 26,000 26,000 0
01 At 22l 26,000 26,000 0
O e8| 20,400
o ZAAEZEAZIZ 8,800,000 8,800
o TAHEYES S I =X A
10,000, 000& 10,000
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OZAAHEEE 28+ 70,0003 20 42 5,600
TEFAY 0B XY 5,320 8,120 £2,800
Al 5,320
201 et 3,320 8,120 A 4,800
Al 3,320
01 At 22l 3,320 6,200 A 2,880
OFEFelAmd ol 22 e 2,920,000& 2,920
Al 2,920
o=t 400,000& 400
Al 400
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202 o4dl 2,000 0 2,000
Al 2,000
01 = LH o4 1l 2,000 0 2,000
O &X A& 2,000,000 2,000
Al 2,000
HE2AZHI (S AIAED) 29,788 29,788 0
Jl2Z I (ZAIHE D) 29,788 29,788 0
Jl2dHl M2AS(ZAIAHE D) 29,788 29,788 0
201 L2l 16,228 16,228 0
01 At 2t 2l 16,228 16,228 0
Oget=&H| 54,5903 14«12 9,172
O=&Hl 7,0003 x14H «6A x 128 7,056
202 oddl 10,560 10,560 0
01 = LH 4 1l 10,560 10,560 0
O=&0HI 10,000 x11H 8L« 12& 10,560
203 YR =2t 3,000 3,000 0
04 NI LS AL 3,000 3,000 0
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